fmmm AT B S AN EX

RE RERTHEXERGSEEEANERRETRE--ER: S-02 ((RKREE:2F->2F)

P015-02-#2/8: 2F , #A%: C2, {1{&: P015-02 [C:+0,4:+0] R <F: 65 cm * 80 cm , & &: 400.0 cm

#10 EH(E1E-—RB): (400*22+221*11)/100 112.31
‘ S g4 (Lg) (124
%)
#4 AEH- LT % NERE(H )= (65+80)*2-8*4+2+13.89=285.8 48.58
3 £ T B #= Int(((400-80)/2)/10.0)+1=17
F T R=285.817/100=48.58 M
#4 AEH-HR NERE(H )= (65+80)*2-8*4+2+13.89=285.8 48.58
3 Fh S0 55 B 2= Int(((400-80)/2)/10.0)+1=17
R 48 = 285.8*17/100=48.58 M
#4 NEH-BH AERE(H )= (65+80)*2-8*4+2+13.89=285.8 22.86
3 (Int(80/10))*285.8/100=22.86 M
BHEHR-RCHE XOKF) AR E (5 FAE)= (65-2* (R EE|4+2*[135E ##7]13.9)
<7 *5=423.9
Y(EE)ARE (5 FAE)= (80-2*[{REE]|4+2*[135E ##7]13.9)
*4=399.1
#4 B F TR #4 F T 5B E= Int(((400-80)/2)/10.0)+1=17 139.9
<7 F T R= (423.9+399.1)*17/100=139.9 M
#4 -t iR #4 7 JL 1% B B= Int(((400-80)/2)/10.0)+1=17 139.9
<7 Fh SR i 48 = (423.9+399.1)*17/100=139.9 M
#4 BH-2BE (423.9+399.1)*Int(80/10)/100= 65.84 M 65.8

BENTE: (128E)
EERTA(H1)22-#8 (H2)X-#X
AEBAEER:(1)22-#10 (FH2)X-#X
B (1)H:10-8"11%
ERETE:
FE AR (65+80)*2*400/10000=11.60 M2
EREEEARINR:
5:1i8:-(B8) 45*70/10000=0.32
%:212:-(G6) 50*80/10000=0.40
$£:3i8:-(B8) 45*70/10000=0.32
%:432:-(G7) 50*80/10000=0.40
BLE/PET1.43 M2
FERRE AR AR I BR:
%:132:35.00*15/10000=0.0525
55:2i8:15.00%15/10000=0.0225
£8:358:35.00%15/10000=0.0525
%5:438:15.00%15/10000=0.0225
LA E/MET:0.1500 M2
FEAEE AR AR I BR:
_BAE/MET0.00 M2
ﬁﬁ@%ﬁgﬂﬂ 1.60-[FERR I $E]1.43-[AE MR X $£]0.15-[#F 1 X $£]0.00=10.02 M2
RCETH:
65*80*400/1000000= 2.080 M3
HEAERETE:
+/- S AH:
#4 : ((400.0+18.28)*16)/100= 66.92 M
#4.:(((130.1-2°4)*3.1416+2+48*1.27+2*13.89)*(400.0/20))/100= 106.66 M

+/- AR
(2*3.1416*51.6*400-(65+80)*2*400)/10000= 1.37 M2
+/- RC:
(3.1416*51.6*51.6*400-65*80*400)/1000000= 1.266 M3
-------------- FTERER DR
Mt E AR

#4=639.2.83 M (639.283 M*0.994/1000= 0.6354 T)
#10=112.310 M (112.310 M*6.390/1000= 0.7177 T)
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W NET =1356317T
ERR/DE = 11.39 M2
RSN =3.346 M3
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